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1. wRy A Bl g B A ol H
Explam'any Jive categories of style.
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Explain Relational Database Model.

2. ¥ W e e
. Write a note on Macros. :,
o
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Explain any five image filters. . ﬁ
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3. Term & A o wERl @ Ao &

Explain any five advantages of Database.
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By taking example, explain the profédure for creating reference to ¢
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SECTION -B
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[ Short Answer Type Questions ]|
4. o i oftemw o
Define the following :
' —
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(@) dRd =
-
Entity o
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8. 3¢ Hisd H &Y & U H

Briefly explain Data Model.

9. Rrdl o7 s A o @ A A

Explain any three workplace Safety Hazards.
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[ Very _Short Answer Type Questions ] |

10. yEFd @0 @ area fafE
Deﬁne Primary 'Key'.
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3 1. teRw & R R

Define Database.

=
3 i
12, fost Sffftee TR § wRa FR 7 =
What is style in Libre Office Writer ? i
’ @ S e & B9 g @ v Ry
Write the use of Crop tool in Image Toolbar.
X . B
14. 3 TE % Eufci® & M ffau %
o
Write the two types of hyperlink. o
Yt
HY[
OR
gredfe § FakRe vRE & 5 ok
Write the use of consolidate function in spread_ nee
(is) e g A o A
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[ Ol%ctlve Typo Questions ]

‘“'16- thm%zﬁmmﬁm% '
R o) o

n ! vl :
el } Entrepreneurs can create jogs in the market :

B (@ True 'S - i A a0

P (b)
P Ry e
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18. ..oioeeeeenn IS @N iMperative sentence.

11

(a) Switch-off the fan s

000

(b) Ram is playing in the park’

1 (c) Where is my book

(d]. Oh no ! I missed my bus

400011

19. MySheetmn?rahz%ams 875 ammw*
1 (a) $MySheet.'GS5"

(b) $MySheet 'G5’ - il

(c) $'MySheet'.G5
. (d) $'MySheet' G5

gl AT e réfers,to ﬂellﬁﬁ‘ofm amec
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20. UF AT QS F Loooeneneeeees #r =
(a) Faa qeH
(b) T of We T g
(c) ot wde &1 ™ %

A strong password should consist of .......cccessssss -

(@) Only Letters

{
=i

(b) Numbers and Special Characters

—

(d) Letters, Numbers and Special Characters

(c) Name of a person

B AT ... e ¥ R #t e Far &
(a) e
(b) e 4
| 5
(c) T =S
-~
(d) f&=r
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”o recordings can be enabled from option in menu bar.

---------------

@ Sheet

m Data

100011

) Tools

(d Window

‘. ssssssssssecsns 3"3233 %alg'ﬂ & WEI
—

- o
......... +e-ee... 1S @n example of outpugdcvicc.
-
23. What-if 95 & fQ ............. @A T &l

... A For @ T

.. is also referred to as 'seﬁc'ontrol',
o

uww“ma@mmﬂmmwwt?

ent goals are given by the
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? 26. Ty oot A o g R 1
| Write an example of renewable §rm of energy.’
-
27. Identify the subject in the sentence : 1

“The boy is playing in the ground."
L

e : frer ge (28 #30}##%&73 SR (A) T BT (R), 997 7 Ad Ry m
TYGHT R # T B 5T G & - 4

In the following questions (28 to 30) there are two statements :

and Reason (R), answer the question by choosing the appropriate opt
below : !

T (R) : T eI fafee, siffgss olk R ao1 oo
(a]-, e (A) T4T FRO (R) &4 T@l 8 & F (R),
(b) SRR (A) T FT (R) a1 &8 &, AT B (R),
& 3
—

o
(c) v (A) &8 B, @rﬁﬁw@mm 2

(d) P (A) Tod B, AT R (R) TR
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rtion (A
' Entl‘epreneurshlp 1s the act of creating a nNeEw and innovative
product. it

-

~ Reason (R): A : :
: n EHtrepreneur must be cx’E‘ative, organized and risk taker.

(a)

Both A ‘ : o
SSértion (A) and Reason (R) are correct and Reason (R) is the €

explanation of Assertion (A)

W, e

; : .. : .

(p) Both Assertion (A) and Reason (R) are correct, but Reason (&}
—

correct explanation of Assertion A). =
S
o

() Assertion (A) is correct, but Reason (Ryis incorrect.

(d) Assertion (A) is incorrect, but Reason (R) is correct.

24
29, sfte (A) : 21 TR v e @ 3 AN
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© s (a) @@ 3, d T (R) T us

‘i (b) i (A) T T (R) I T E, WA T (R)
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Assertion (A) : The data consolidatiors function takes data from a scrics of

o i heet
- worksheet and convert {T'into single works .

Reason (R) : Sorting is not possible in spreadsheet.

iai - Both Assertion (A) and Reason (R)Qre correct and Reason (R) is the corrcct
- O . i

explanation of Assertion (A). 8
—

- (b)  Both Asscrtion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).
(¢) Asser.tion (A) is correé‘t, but Reason (R) is incorrect.

(d) Assertion (A) is incorrect, but Reason (R) is correct.

s
30. W(A)immwﬁwmaaﬁt,aﬁﬁ%mﬁam
B | .
BT (R) : AR & o e A AT F B e e e B
() B (A) TN FRT (R) A WE ¥ MR (R), SRR (A) B W@y ¥

(b) SR (A) T FR (R) ﬁaﬁ%,gfhﬂwm,mﬁw (A) # T @ T8
2 =

() iftmET (A) @& B, AT BT (R) T 31
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(15) &

= 4
pssertion (&) : Stress jg usually a negative—experience

also,

put it can be positive

Reason (R) : Motivation pushes us to achieve our goals.

(a) Both Assertion (A) and Reason (R) are ¢orrect and. Reason (R) is the €
2 _

‘explanation of Assertion (A). i

(b) Both Asscrtion (A) and Reason (R) are correct, but Reason

correct explanation of Assertion (A).
(c) Assertion (A) is correct, but Reason (R) is incorrect.

(d) Assertion (A) is incorrect, but Reason (R) is correct.
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